Kisa BS

Partavling HCP 2022-08-31

Partavling, 6 bord, 12 par. Antal brickor: 22. Medel: 110.0.

Plac Par Poéng % Namn MID Klubb
1 10 139.4 63.38 Bo Flyme - Peter Hahne 2260 1187 Kisa BS
2 3 131.0 59.56 Jan Friberg - Bosse Larsson 56765 56769 Kisa BS
3 6 122.4 55.65 Christer Frisk - Tommy Simonsson 43398 21857 Kisa BS
4 9 122.3 55.60 Benny Andersson - Géte Olauson 12301 12300 Kisa BS
5 11 121.7 55.33 Kent Hidsjo - Sven-Arne Svensson 17658 1030 Kisa BS
6 12 120.0 54.55 Torbjorn Forsén - Dag Johansson 88512 88495 Kisa BS
7 4 113.0 51.35 Claes-Goran Blixt - Fredrik Banck 12046 21847 Kisa BS
8 5 107.9 49.03 Ylva Skidld - Helén Forss 19968 9196 Kisa BS
9 7 105.0 47.71 Maria Zackrisson - Leif Zackrisson 43396 43395 Kisa BS
10 1 95.8 43.52 Jonas Hijelte - Tony Lindblom 88994 21037 Kisa BS
11 8 72.1 32.76 Morgan Johansson - Risto Laine 88993 88882 Kisa BS
12 2 69.4 31.55 Harriet Albinsson - Mats Andersson 44436 21846 Kisa BS
1 4 EKD7 Basta kontrakt 2 4 Kn52 Basta kontrakt 3 46 Basta kontrakt
Nord v K9653 44 O =-130 Ost v D53 54 O =-450 Syd v D873 5v S =450
Ingen +73 NS ¢+ D742 ov + DKn64
#83 & ¢ v & NT #K85 & ¢ v & NT #KD83 & ¢ v & NT
#1086 493 N3 4784 4K9864 4D10 N4 2422 4 Kn107542 #K9 N 108 118 10
vD v 108742 S 34784 v K10 v EKn7 S 42422 vKn6 v K95 S 108 118 10
¢ EKn98 ¢ K106 O 108 6 5 6 ¢ E1063 ¢ Kn985 O 9 119 1110 493 ¢ K10875 034253
#EKN764 #K102 V 108 6 5 6 «107 #ED93 vV 9 119 1110 #Kn106 *E75 V35253
& Kn542 4 E73 « ED83
v EKn v 98642 v E1042
¢ D542 +K ¢E2
«D95 *Kn642 %942
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
6 3 34 N= v2 140 90 10| 4 11 2NO= v4 -120 100 00| 6 8 2v S+2 %] 170 9.0 1.0
10 9 24 S+1 vQ 140 9.0 10|12 1 2¢ O+3 v9 -150 80 20|12 2 2vy N+2 «A 170 9.0 1.0
5 7 34S-1 vQ -50 50 50| 5 7 3NO= v9 -400 50 50| 5 1 4vN-1 oK -50 50 5.0
12 1 34 S-1 vQ -50 50 50|10 9 3NO= v8 -400 50 50|11 10 4v S-1 %] -50 50 5.0
2 8 44 N-2 49 -100 10 90| 2 8 3NO+1 v2 -430 10 90| 3 9 3vsS-2 ] -100 1.0 9.0
4 11 44 S-2 46 -100 10 90| 6 3 3NO+1 v2 -430 10 90| 7 4 4vS-2 +9 -100 10 90
4 «KD Bésta kontrakt 5 4 D94 Bésta kontrakt 6 & K73 Bésta kontrakt
Vast v 852 34 V =-140 Nord v EK10743 4v N =620 Ost v 92 5¢ O =-650
Alla + EKDKn93 NS +3 ov + K87543
»E6 & ¢ v & NT #K93 & ¢ v & NT #102 & ¢ v & NT
& E982 476543 N596 48 » 87 4KKn1063 N 6 6 107 8 4 ED6 41085 N37 153
vKD1094 vKn S596 438 vD5 v 96 S469 6 8 vE865 vKnl074 S37 253
+5 + 864 08 469 4 + D1087 + K96 076 36 4 +9 ¢+ E106 O 106 118 9
2972 «KD104 V8460914 #DKn1042 &E87 V7636414 #D6543 #EK9 V 106 118 9
4 Knl0 4 E52 4 Kn942
vE763 v Kn82 vKD3
+1072 ¢ EKn542 ¢ DKn2
#Kn853 #65 #Kn87
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
6 8 2NN+2 K 180 100 00| 1 11 4v N+1 4] 650 100 00|12 3 4v0O-1 «8 100 10.0 0.0
12 2 2¢ S+2 vK 130 80 20| 8 5 4vN= *A 620 80 20| 6 2 240+2 vK -130 80 20
5 1 3¢ N= vlJ 110 50 50| 6 2 3v N+1 A 170 50 50| 7 9 1vO+4 ¢2 -200 6.0 4.0
11 10 3¢ S= vK 110 50 50| 7 9 3v N+1 «A 170 50 50| 8 5 4vV= &T -620 40 6.0
7 4 3NN-1 vJ -100 20 80|12 3 2¢vyN+1 T 140 20 80| 1 11 4v V+2 &T -680 1.0 9.0
3 9 3NN-3 *4 -300 0.0 10.0| 4 10 4v N-1 v9 -100 0.0 10.0| 4 10 4v O+2 +Q -680 1.0 090
7 « D854 Bésta kontrakt 8 454 Bésta kontrakt 9 4 E76 Bésta kontrakt
Syd vE109 5v V =-650 Vast v ED1064 5NT N =460 Nord v DKn95 3v O =-140
Alla ¢ KKn54 Ingen ¢+ E8 ov ¢+ Knl104
*97 & ¢ v & NT «D1076 & ¢ v & NT »K86 & ¢ v &4 NT
« EK107 492 N43132 41032 &K76 N 9 10111011 41083 4KKn N544605
v7543  vKD62 S 43133 vKn82 %753 S 9 10111011 vEK86 v742 S54465
+76 ¢+ ED82 09 9 119 10 496432 ¢ Kn7 043000 ¢+ EK872 4965 089 96 8
&#EKD #1032 vV 9 10119 10 #Kn9 #EK853 V42000 *E #Knl0732 VvV 8 9 9 6 8
4 Kn63 4 EDKn98 4 D9542
vKn8 vK9 v 103
41093 + KD105 +D3
»Kn8654 *42 »D954
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 6 4v 0= vl] -620 9.0 10| 5 11 3NN+4 &5 520 100 00|10 7 24S= A 110 10.0 0.0
12 4 4v V= *9 -620 90 10| 9 6 3NN+3 A 490 80 20|12 5 24S-1 *A -50 80 20
8 10 4v V+1 9 -650 6.0 40| 7 3 3NN+2 «5 460 50 50| 3 2 leV= v9 -70 6.0 4.0
2 1 4y V+2 9 -680 20 80| 8 10 3NN+2 A 460 50 50| 6 1 3¢V= oA -110 40 6.0
5 11 4y V+2 9 -680 20 80|12 4 4y N= A 420 20 80| 9 11 2¢ V+2 s A -130 20 8.0
7 3 4v VH+2 a5 -680 20 80| 2 1 3NN= «5 400 0.0 100| 8 4 2vV+l s A -140 0.0 10.0
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10 4 KD95 Basta kontrakt 11 41087 Basta kontrakt 12 4 KKn102 Basta kontrakt
Ost v 83 4v O =-620 Syd vKD108 54 V =-450 Vast v9 4v V =-420
Alla +D2 Ingen +D4 NS + EDKn92
#DKn1052 & ¢ v & NT #Kn762 & ¢ v & NT #ED7 & ¢ v & NT
« EKn4 #1087 N52 333 4 EKN3 4 KD654 N237 22 «E5 « D863 N57 265
vE105 vKDKn4 S52333 v72 vE6 S23722 vEKD753 v642 S57265
¢ K105 ¢ E9864 O 7 11109 9 ¢ K1098 ¢ Kn72 O 109 6 1110 .- ¢ K10643 O7 6 107 8
#E973 #4 vV 7 11109 9 #ED103 #K85 vV 109 6 1110 #K9854  #6 vV 8 6 107 8
4632 492 4974
v 9762 v Kn9543 vKn108
¢+ Kn73 + E653 4875
»K86 294 #Kn1032
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 2 3NV= &T -600 80 20|12 6 3NV= v8 -400 100 00| 7 2 4v V-1 *A 50 10.0 0.0
8 4 3NV= *Q -600 80 20| 4 3 440= *9 -420 50 50|12 6 44 S-3 vA -300 8.0 20
10 7 3NV= *Q -600 80 20| 7 2 440= +5 -420 50 50|10 1 4v V= v9 -420 50 5.0
6 1 3NV+1 *Q -630 20 80|10 1 4eV= vK -420 50 50|11 8 4v V= v9 -420 50 5.0
9 11 3NV +1 *Q -630 20 80|11 8 44 0= v5 -420 50 50| 4 3 3vyDV+1l ¥9 -630 20 8.0
12 5 3NV +1 *Q -630 20 80| 9 5 3NO+1 v4 -430 0.0 100| 9 5 4vyDV+1l ¥9 -690 0.0 10.0
13 o E Basta kontrakt 14 & K52 Basta kontrakt 15 «ED3 Basta kontrakt
Nord v 1074 34 O =-140 Ost vE5 INT O =-90 Syd v K652 4v V =-420
Alla +D10753 Ingen ¢ D96542 NS ¢ EKn
#Kn864 & ¢ v & NT *62 & ¢ v & NT #K852 & ¢ v & NT
4 KKn32 «4D97 N45 445 4 Kn84 410963 N7 7 6 66 a5 410986 N9 4387
v- vKKn98653 S 4 5 4 4 6 vD942 vKn86 S7 7666 vKn874 vED103 S94386
¢ EKn62 ¢94 087997 +Knl0 ¢ EK87 056767 +D87652 ¢ K4 O 4 8 105 6
#EKD53 &7 V88997 #E987 #K10 V567867 «D10 #E76 V 4 8 105 6
+ 108654 « ED7 & KKn742
vED2 v K1073 v9
+ K8 +3 41093
#1092 #DKn543 #Kn943
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
10 6 4v0-3 8 300 100 00|11 2 2&S+2 +J 130 100 0.0(11 7 24 N+2 vA 170 10.0 0.0
11 2 49 0-2 T 200 80 20| 5 4 INN= ¢A 90 70 30| 6 5 24 N+1 46 140 70 3.0
1 9 3sV= s A -110 60 40|12 7 INN= 46 90 70 30|12 8 24 N+1 T 140 70 3.0
12 7 2NV= +5 -120 40 6.0 8 3 2NS-1 Ly -50 30 70| 9 4 3¢ V+1 s A -130 40 6.0
5 4 3v 0= *9 -140 20 80|10 6 3&#S-1 +J -50 30 7.0| 2 10 24 N-2 oT -200 20 8.0
8 3 4v 0= &T -620 00 100| 1 9 3NS-2 s -100 00 100| 1 3 3vyDO= &5 -530 0.0 10.0
16 & K982 Bésta kontrakt 17 & ED652 Bésta kontrakt 18 + 1064 Bésta kontrakt
Vast v D53 24 N =110 Nord v EKn753 64 N =980 Ost v K73 6¢ S =1370
oV + 104 Ingen ¢ E5 NS + K10962
#EKn52 & ¢ v & NT »5 & ¢ v & NT »82 & ¢ v & NT
4 DKn 41075 N856 86 4107 43 N 5 5 10128 & EKD52 4 Kn9873 N 1012106 7
vE942  vK87 S 856 86 v 9862 vD10 S 56 10128 v 985 vKn102 S 1012106 7
4762 ¢DKn9853 O 5 8 7 5 6 + K82 ¢ Kn9763 076313 ¢E4 ¢+ D5 021166
#KD108 &7 V58756 #EKKn4 #D9863 V76313 #1097 #DKn6 V21166
« E643 & KKn984 a-
v Kn106 vK4 v ED64
¢+ EK + D104 + Kn873
#9643 #1072 #EK543
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
11 7 2NO-3 43 300 100 00| 1 8 44 N+2 43 480 90 10| 1 8 4¢ S+1 sA 150 9.0 1.0
6 5 3¢0-2 vJ] 200 80 20|10 5 44 N+2 +6 480 90 10|10 5 34V-3 8 150 9.0 1.0
1 3 14 N+2 +J 140 6.0 40| 2 4 54 N= +9 450 30 70|12 9 3aV-2 8 100 6.0 4.0
12 8 3¢ O-1 vJ] 100 40 6.0 3 11 44 N+1 6 450 30 70| 3 11 34 V-1 *T 50 40 6.0
2 10 1lv V= *T -80 20 80| 7 6 44 S+1 K 450 30 70| 2 4 1laV+l *8 -110 20 80
9 4 2¢ 0= s A -90 0.0 100|12 9 4a N+1 43 450 30 70| 7 6 26 V+1 +9 -140 0.0 10.0
19 464 Bésta kontrakt 20 4 E63 Bésta kontrakt 21 « ED7 Bésta kontrakt
Syd v KKn654 2NT S =120 Vast v 5432 44 V =-620 Nord v2 5 N =600
oV +93 Alla + 82 NS 4943
#10876 & ¢ v & NT #DKn82 & ¢ v & NT #KKn10953 & ¢ v & NT
4 K972 483 N8 7 7 88 & KDKn987 4542 N537 23 » K105 # 98432 N 117 6 5 9
v932 vE1087 S 87 888 vKn v EDG6 S53723 vKn9743 vKD10 S 117 6 6 9
¢+ K85 410642 056 555 + KDKn63 ¢ 109 O 8 106 108 ¢+ E62 ¢ KKn85 026774
#DKn3 #E54 V55555 &3 #EK1076 V 8 106 108 »386 D V2617734
« EDKn105 210 & Kn6
vD v K10987 v E865
+ EDKn7 ¢ E754 + D107
*K92 #954 #E742
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 6 14 S+3 v9 170 100 00| 3 5 4eV= 8 -620 100 00| 9 8 4&N+1 49 150 10.0 0.0
4 1 24 S+1 «Q 140 70 30| 2 9 44 V+l1 +8 -650 40 60| 1 7 Pass 40 6.0
8 7 1a S+2 3 140 70 30| 4 1 4eV+l *Q -650 40 6.0 3 10 Pass 40 6.0
2 9 1a S+1 +«Q 110 20 80| 8 7 4aV+l +8 -650 40 60| 4 6 Pass 40 6.0
3 5 1a S+l +5 110 20 80|11 6 4eV+l *Q -650 40 60| 5 2 Pass 40 6.0
12 10 1a S+1 «Q 110 20 8.0|12 10 44 V+1 +8 -650 40 6.0(12 11 Pass 40 6.0
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22 4 Kn873
Ost vE
ov + 854
&EKD84
n 52 « KD1096
v KDKn109543 v62
» Kn7 + D62
w7 632
s E4
v 87
+ EK1093
#Kn1095
Par Kontr Ut
9 8 4vyDV-2 &A
5 2 3NN+3 &K
4 6 5&S= vK
12 11 54 S= vK
1 7 3vyDV-1 &A
3 10 34 N-2 v6

Basta kontrakt

5¢ S =400
& ¢ v &N
N 11115 8 9
S 11115 8 9
021852
V21852
Res Poang
500 10.0 O.
490 8.0 2.
400 50 5.
400 50 5.
200 20 8.
-100 0.0 10.
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